molex

one company » a world of innovation

This document was generated on 04/05/2010

PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION

Product Specification PS-58719-005 (PDF)

Part Number: 0587210020
Status: Active
Description: HMC™ Rectangular Industrial Hood Bracket, Multi-Module Type, 48-72 Circuits, Type
B Polarization
Documents:
3D Model Product Specification PS-58719-006 (PDF)
Drawing (PDF RoHS Certificate of Compliance (PDF)

Agency Certification
TUV

General
Product Family
Series
Application
Component Type
Product Name

Type

Physical

Circuits (Loaded)

Circuits (maximum)

Lock to Mating Part

Material - Plating Mating
Orientation

Packaging Type

Panel Mount

Pitch - Mating Interface (in)
Pitch - Mating Interface (mm)
Pitch - Term. Interface (in)
Pitch - Term. Interface (mm)
Polarized to Mating Part
Temperature Range - Operating
Termination Interface: Style
Waterproof / Dustproof
Waterproof / Dustproof Type

Electrical
Current - Maximum per Contact
Voltage - Maximum

Material Info

Reference - Drawing Numbers
Product Specification

Sales Drawing

R72081037

I/O Connectors
58721
Panel-Mount
Hood Bracket
HMC™

N/A

48

48

Yes

n/a
Vertical
Bag

N/A
0.000 In
0.00 mm
0.000 In
0.00 mm
Yes
-55°C to +125°C
N/A

Yes
IP65

12A, 20A
300V DC

PS-58719-005, PS-58719-006, RPS-58719-003,
RPS-58719-004, RPS-58719-006, RPS-58719-007,
RPS-58719-008

SD-58721-002

This document was generated on 04/05/2010

Series

image - Reference only

EU RoHS

ELV and RoHS
Compliant
REACH SVHC
Not Reviewed

Halogen-Free
Status

Not Reviewed

Need more information on product
environmental compliance?

China RoHS

Email productcompliance@molex.com
For a multiple part number RoHS Certificate of
Compliance, click here

Please visit the Contact Us section for any
non-product compliance questions.

Search Parts in this Series
58721Series

Mates With
58719-0020 panel-mount bracket

Use With
51194 housing, 51195 housing, 58723-0010

hood, 51203 housing, 51204 housing

PLEASE CHECK WWW.MOLEX.COM FOR LATEST PART INFORMATION



http://www.molex.com/molex/products/datasheet.jsp?part=active/0587210020_IO_CONNECTORS.xml&channel=Products&Lang=en-US
http://www.molex.com/molex/part/partModels.jsp?&prodLevel=part&series=&partNo=587210020&channel=Products
http://www.molex.com/pdm_docs/ps/PS-58719-006.pdf
http://www.molex.com/pdm_docs/sd/587210020_sd.pdf
http://www.molex.com/datasheets/rohspdf/0587210020_rohs.pdf
http://www.molex.com/pdm_docs/ps/PS-58719-005.pdf
http://www.molex.com/molex/products/listview.jsp?query=58721&sType=s
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/EU_RoHS.html#eurohs
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/cmc_upload/0/000/-12/201/china_RoHS.html#china
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/reach.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
http://www.molex.com/molex/common/staticLoader.jsp?fileName=/webcontent/contact/halogen_free.html
mailto:productcompliance@molex.com
http://www.molex.com/molex/electrical_model/rohsCoC.jsp
http://www.molex.com/molex/contact/mxcontact.jsp?channel=Contact Us&channelId=-7
http://www.molex.com/molex/products/listview.jsp?query=58721&sType=s
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=p&query=0587190020
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=51194
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=51195
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=p&query=0587230010
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=51203
http://www.molex.com/molex/products/listview.jsp?channel=Products&sType=s&query=51204

8 7 3 5 4 3 2
BT E=T=1 ET=l =
GIES i {maga) ME o=
NI —BAAET— ND. PART NAME a1y, MATERIAL ARTICLE
S =7 IS L%
S POLARIZATION KEY FOR COVER @ 2& SH/ELILJL | | Ak Atey —+—
1
N M2.5x8 / \RESNTR U ki T A
N _ @ M2.5X8 sckj 4 SEﬂEEL m‘P&T{N
®© M3x5 /\RESRU 3H NS
a9 @ M3X5 SCREW 2 STEEL Ni Pfﬁijch
=9 @ F—=F)L > | =50 Ni Xy
S GROUND TERMINAL BRASS N PLATIN
g
£ £
NOTES
FNDVTEd—ZF)L
APPLICATIGN HOUSTNG AND TERMINAL
— A =)L
A;"EﬁEATIUN HUU?I‘NG TERMINAL
t" 77 7 5®A63§LA9UNL(‘39
By f
PIN HUOSING 51194-0800 59320-9%90
Au PLATING
: e e84 |o
DT\ _ f
SOckET HOUSIG 51185-0800 59319-0+90
Au PLATING
EoNDIY 555B8-GS**
PIN HUO?ING 7 51203-1200 AU PLATING
T YNNI - Rl
SJO(/:{ET ’H\OUSRG j 51204-1200 Au PLATING
M BRUHEER( )LD 5 ~6kg
L4 M3 SCREW Rl MMENDATION T]GHTENING TGRDUE.
¢ EBALT— ¢
MIS-ENGAGEMENT MIS ENGAGEMENT
PREVENTION KEY PREVENTION KEY
B B | 587210020 B
TYPE A TYPE B 5872 1-00*0
58721-0010 58721-0020 A_| 587210010
TYPE | MATERIAL NO. MODEL NO.
[DIMENSTONS: SHT | REV
3 n o & MATERTAL GENERAL TOLERANCESz SCALE DESIGN UNITS mm ]NCH mm
- > N [ 3 o (UNLESS SPECIFIED) INCH ONLY
s g § 23 sy 15| ®mm Omes Frosecrion | e mm Mowy| FEIE
z H 3 > H
= R i’r 228 9 ‘:\J% = 8 — 10 “*ND;R 02 TP BT B DA g | TITLE:
a os3 =
& R R - S 1D OVER 3 UNDER |, G T POWER CONN 48P PLUG SHELL ASS'Y
] ;EéFx;oSwE;xﬂgfikxggNBg N E EX 2 Y op 98/09/21
WaSs2=3wa - | T R R A1)
= A <T|d SS-T|h —— OVER APPROVED BY & DATE A
=1 I PN L i Rl S Dot el S 30 9% %J@g,,)— ww0s2| % MOLEX INCORPORATED [
= oEX&| oEIE oEEIE oExg oEig CADUFILENANE MATERIAL NO- DRAWING NO. SHEET NO.|
— ANGLE A& =3 o
=] woo=| ©oo=| WoOo=l Woosd WOOS 58721002.50! SEE CHART SD-58721-002 10F1 |8
o s8] << S E THIS DRAWING CONTAINS INFORMATION THAT IS PROPRIETARY TO MOLEX SIZE &
o INCORPORATED AND SHOULD NOT BE USED WITHOUT WRITTEN PERMISSION. B oo
5 B B P 3 EN-02J(@97) MXJ-54

2 \



